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  CALCULS	
  -­‐	
  Effectuer	
  des	
  calculs:	
  la	
  soustraction	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  EVALUATIONS	
  	
  CE2	
  	
  

 
Compétences	
  :	
  
Avoir	
  compris	
  le	
  sens	
  de	
  la	
  soustraction	
   A	
   AR	
   ECA	
   NA	
  
Effectuer	
  une	
  soustraction	
  posée	
  :	
  sans	
  retenue	
   A	
   AR	
   ECA	
   NA	
  
Effectuer	
  une	
  soustraction	
  posée	
  :	
  avec	
  retenue	
   A	
   AR	
   ECA	
   NA	
  
	
  
• Résous	
  les	
  problèmes	
  suivants.	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
1. J'ai	
  19	
  €	
  dans	
  ma	
  tirelire.	
  Je	
  dépense	
  5	
  €.	
  Combien	
  me	
  reste-­‐t-­‐ il?	
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2. Paul	
  a	
  9	
  ans.	
  Son	
  frère	
  Pierre	
  a	
  14	
  ans.	
  	
  

Qui	
  est	
  le	
  plus	
  vieux?	
  De	
  combien	
  d'années	
  est-­‐il	
  plus	
  âgé?	
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3. Jean	
  a	
  11	
  ans;	
  il	
  a	
  6	
  ans	
  de	
  plus	
  que	
  son	
  frère	
  Éric.	
  	
  

Quel	
  est	
  l'âge	
  d'Éric	
  ?	
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4. Anne	
  a	
  emprunté	
  6	
  livres	
  à	
  son	
  amie.	
  Elle	
  m'en	
  a	
  emprunté	
  3.	
  	
  

J'en	
  avais	
  5.	
  Combien	
  ai-­‐je	
  de	
  livres	
  maintenant	
  ?	
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5. Un	
  autobus	
  transporte	
  40	
  passagers.	
  29	
  sont	
  assis.	
  Quel	
  est	
  le	
  nombre	
  de	
  passagers	
  debout	
  ?	
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• Effectue	
  les	
  soustractions	
  suivantes	
  :	
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• Pose	
  et	
  effectue	
  les	
  opérations	
  (au	
  dos	
  de	
  la	
  feuille)	
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